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 INTERMEDIATE EXAMINATION – 2023  

(ANNUAL/ ) 

I.Com. 

Economics(Elective).

le;%& 3 ?kaVs 15 feuV 

Time:- 3 hours 15 minute            
 
dqy iz’uksa dh la[;k % 100 $ 30 $ 8 ¾ 138      
Total no. of questions : 100 $ 30 $ 8 ¾ 138 

 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA                                                       

Candidate must enter his/her Question Booklet Serial No. (10 

Digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa  dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

Subject Code :- 219 

iw.kkZad & 100 
Full Marks -100 
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15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u iqfLrdk nks [k.Mksa esa gS]  ,oa  

This Question Booklet is divided into two sections: Section-A and 

Section-B. 

6- [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA 50 ls vf/kd iz’uksa ds 

mÙkj nsus ij izFke 50 mÙkjksa dk gh ewY;kadu dEI;wVj }kjk fd;k tk,xkA lgh 

mÙkj miyC/k djk;s x;s OMR mÙkj i=d esa fn;s x;s fodYi dks uhys@dkys 

ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds âkbVuj@rjy inkFkZ@CysM@uk[kwu 

vkfn dk mÙkj&iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; 

gksxkA 

In Section-A, There are 100 objective type questions, out of which 

any 50 questions are to be answered. Each Question carries 1 

mark. First 50 answers will be evaluated by the computer in case 

more than 50 questions are answered. For answering these 

darken the circle with blue/black ball pen against the correct option 

on OMR Answer Sheet provided to you. Do not use 

Whitener/liquid/blade/nail etc. on OMR-Sheet, otherwise the result 

will be treated invalid. 

7- [k.M&c esa 30 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA buds vfrfjDr] bl [k.M 



3 
 

esa 8 nh?kZ mÙkjh; iz’u fn;s x;s gSa] ftuesa ls fdUgha 4 iz’uksa dk mÙkj nsuk gSA 

izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSA 

In Section-B, there are 30 Short answer type questions, out of 

which any 15 questions are to be answered. Each question carries 

2 marks, Apart from these, there are 8 Long Answer type 

questions, out of which any 4 questions are to be answered. Each 

question carries 5 marks. 

8- fdlh izdkj ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

Section - A (Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA fdUgha 50 iz’uksa dk mÙkj vius }kjk pqus x;s lgh fodYi dks OMR&’khV ij 

fpfUgr djsaA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA    50 x 1=50 

Question No.- 1 to 100 have four options, out of which only one is 

correct. Answer any 50 questions. You have to mark your selected option on 

the OMR-Sheet. Each question carries 1 (one) mark.  50 x 1 = 50 

1- miHkksDrk O;ogkj dk lEcU/k gS % 

 (A) oLrq dh mi;ksfxrk ls   (B) oLrq dh ek¡x ls 

 (C) oLrq ds mRiknu ls   (D) (A) vkSj (B) nksuksa ls 

 Consumer behaviour relates to :- 

 (A) Utility of a commodity  (B) Demand of commodity 
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 (C) Production of commodity  (D) Both (A) and (B) 

2- mi;ksfxrk dk x.kukokpd fl)kUr fuEu esa ls fdlus izLrqr fd;k \ 

 (A) ek’kZy     (B) ihxw 

 (C) fgDl     (D) lSE;qvYlu 

 Who propounded the cardinal concept of utility ? 

 (A) Marshall    (B) Pigou 

 (C) Hicks     (D) Samuelson 

3- ml oØ dk uke crk,¡ tks vkfFkZd leL;k n’kkZrk gS \ 

 (A) mRiknu oØ    (B) mRiknu lEHkkouk oØ 

 (C) mnklhurk oØ    (D) ek¡x oØ 

 Mention the name of the curve which shows economic problem ? 

 (A) Production curve   (B) Production possibility curve 

 (C) Indifference curve   (D) Demand curve 

4- O;f"V vFkZ’kkL= ds vUrxZr fuEu esa fdldk v/;;u fd;k tkrk gS \ 

 (A) O;fDrxr bdkbZ    (B) vkfFkZd lexz 

 (C) jk"Vªh; vk;    (D) blesa ls dksbZ ugha 

 Which of the following is studied under Micro Economics ? 

 (A) Individual Unit   (B) Economic Aggregate 

 (C) National Income   (D) None of these 

5- ^^vFkZ’kkL= /ku dk foKku gS** fdlus dgk gS \ 

 (A) dSuu     (B) ts- ch- ls 

 (C) ,Me fLeFk    (D) ihxw 
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 Who has said “Economics is the science of wealth.” 

 (A) Canon     (B) J. B. Say 

 (C) Adam Smith    (D) Pigou 

6- ,slh oLrq,¡ ftudk ,d nwljs ds cnys iz;ksx fd;k trk gS] dgykrh gS % 

 (A) iwjd oLrq,¡    (B) izfrLFkkiUu oLrq,¡ 

 (C) vkjkenk;d oLrq,¡   (D) buesa ls dksbZ ugha 

 Goods, which can alteratively be used, are called : 

 (A) Complementary Goods  (B) Substitute Goods 

 (C) Comfort Goods   (D) None of these 

7- mRiknu ds lHkh lalk/kuksa esa ,d gh vuqikr esa o`f) ds ifj.kkeLo:Ik mRiknu esa 

vf/kd vuqikr esa òf) gksrh gS] bls dgrs gSa % 

 (A) fLFkj iSekus dk izfrQy   (B) gzkleku iSekus dks izfrQy 

 (C) o`f)eku iSekus dk izfrQy  (D) buesa ls dksbZ ugha 

 If all the factors of production are increased by same proportion and as 

a result output increases by a greater proportion then, it is called :- 

 (A) A constant returns to scale (B) Decreasing returns to scale 

 (C) Increasing returns to scale (D) None of these 

8- vkfFkZd leL;k lkekU;r;k fdl rF; dh leL;k gS \ 

 (A) cktkj p;u dh    (B) flQZ pquko dh 

 (C) QeZ ds p;u dh    (D) mi;qZDr lHkh 

 Economic problem is basically related to which factor ? 

 (A) Selection of Market   (B) Choice only 
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 (C) Firm’s Selection   (D) All of these 

9- fuEu esa dkSu mRiknu Qyu gS \ 

 (A) C = f(Q)    (B) Q = f(C) 

 (C) Q = f(P)    (D)  buesa ls dksbZ ugha 

 Which of the following is production function ? 

 (A) C = f(Q)    (B) Q = f(C) 

 (C) Q = f(P)    (D) None of these 

10- ek¡x dh yksp dks izHkkfor djus okys ?kVd dkSu ls gS \ 

 (A) oLrq dh izd`fr    (B) dher Lrj 

 (C) vk; Lrj     (D) buesa ls dksbZ ugha 

 Which of the following factor affects elasticity of demand ? 

 (A) Nature of goods   (B) Price Level 

 (C) Income Level    (D) None of these 

11- ek¡x esa deh ds fuEufyf[kr esa dkSu&ls dkj.k gSa \ 

 (A) vk; esa deh    (B) Øsrkvksa dh la[;k esa deh 

 (B) miHkksDrk dh :fp esa deh  (D) mi;qZDr lHkh 

 Which of the following is a reason for fall in demand ? 

 (A) Fall in income   (B) Fall in number of buyers 

 (C) Fall in taste of consumer  (D) All of the above 

12- O;kikj larqyu dk vFkZ gksrk gS % 

 (A) iw¡th ds ysu&nsu ls   (B) oLrqvksa ds vk;kr ,oa fu;kZr ls 

 (C) dqy MsfcV rFkk dqy ØsfMV ls (D) mi;qZDr lHkh 
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 Balance of Trade means : 

 (A) Capital Transactions  (B) Import and Export of Goods 

 (C) Total Debit & Total Credit (D) All of the above 

13- fuEufyf[kr esa ls dkSu lk lgh gS \ 

(A) Y = C + I    (B) Y = O = N 

 (C) C + S = C + I    (D) ;s lHkh 

 Which of the following is correct ? 

 (A) Y = C + I    (B) Y = O = N 

 (C) C + S = C + I    (D) All of these 

14- fjtoZ cSad vkWQ bf.M;k dh LFkkiuk gqbZ % 

 (A) 1947 esa     (B) 1935 esa 

 (C) 1937 esa     (D) 1945 esa 

 Reserve Bank of India was established in : 

 (A) 1947     (B) 1935 

 (C) 1937     (D) 1945  

15- izkFkfed {ks= esa lfEefyr gksrk gS % 

 (A) df̀"k     (B) [kqnjk O;kikj 

 (C) y?kq m|ksx    (D) buesa ls lHkh 

 Primary sector includes : 

 (A) Agriculture    (B) Retail Trading 

 (C) Small Industries   (D) All of these 
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16- mRiknu dk lØh; lk/ku gS % 

 (A) iw¡th     (B) Je 

 (C) Hkwfe     (D) buesa ls dksbZ ugha 

 An active factor of production is: 

 (A) Capital     (B) Labour 

 (C) Land     (D) None of these 

17- lef"V vFkZ’kkL= dk v/;;u gS % 

 (A) vFkZO;oLFkk esa jkstxkj ds volj (B) oLrqvksa dh iwfrZ fu;e dk 

 (C) LdwVj esa ek¡x dh yksp dk  (D) cktkj esa xsgw¡ dh dher dk 

 Macro Economics studies :- 

 (A) Employment opportunity in Economy 

 (B) Law of supply of commodities 

 (C) Elasticity of demand in scooter 

 (D) Price of wheat in market 

18- mRiknu esa òf) ds lkFk&lkFk dqy ykxr ,oa dqy ifjoÙkZu’khy ykxr esa vUrj % 

 (A) ?kVrk tkrk gS    (B) c<+rk tkrk gS 

 (C) fLFkj jgrk gS    (D) buesa ls dksbZ ugha 

 With the increase in output, the difference between total cost and total 

variable cost : 

 (A) Decreases    (B) Increases 

 (C) Remains Constant   (D) None of these 
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19- Hkkjrh; cSafdax iz.kkyh dk laj{kd dkSu gS \ 

 (A) vkj-ch-vkbZ-    (B) ,l-ch-vkbZ- 

 (C) ;w-Vh-vkbZ-     (D) ,y vkbZ lh 

 Who is custodian of Indian Banking System ? 

 (A) RBI     (B) SBI 

 (C) UTI     (D) LIC 

20- miHkksx gS % 

 (A) mi;ksfxrk esa òf)   (B) mi;ksfxrk esa u òf) u {k; 

 (C) mi;ksfxrk esa {k;   (D) buesa ls dksbZ ugha 

 Consumption is : 

 (A) Increase in utility    

(B) Neither increase nor destruction in utility 

(C) Destruction of utility  (B) None of these 

21- ls.Vªy cSad vkWQ bf.M;k D;k gS \ 

 (A) O;kikfjd cSad    (B) dsUnzh; cSad 

 (C) futh cSad     (D) buesa ls dksbZ ugha 

 What is  Central Bank of India ? 

 (A) Commercial Bank   (B) Central Bank 

 (C) Private Bank    (D) None of these 

22- fdl fof/k ls ge cSad ls udn fudky ldrs gSa \ 

 (A) vkgj.k i=    (B) psd 

 (C) ,-Vh-,e-     (D) buesa ls lHkh 
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 By Which method can we withdraw cash from Bank? 

 (A) Withdrawal Form   (B) Cheque 

 (C) ATM     (D) All of these  

23- ctV fuEu esa ls dkSu lk 'kCn gS \ 

 (A) ySfVu     (B) teZu 

 (C) ÝsUp     (D) buesa ls dksbZ ugha 

 Which of the following word is Budget? 

 (A) Latin     (B) German 

 (C) French     (D) None of these  

24- dsUnzh; cSad fuEufyf[kr esa fdlds }kjk lk[k dh ek=k ij fu;a=.k j[krk gS \ 

 (A) cSad nj     (B) [kqys cktkj dh fØ;k;sa 

 (C) udn dks"k vuqikr esa ifjoÙkZu (D) mi;qZDr lHkh 

By which method Central Bank adopts for controlling the quantity of 

credit? 

(A) Bank Rate     

(B) Open market operation 

(C) Change in Cash Reserve Ratio 

(D) All of the above 

25- vn`’; enksa esa fuEufyf[kr esa fdls lfEefyr fd;k tkrk gS \ 

 (A) cSafdax     (B) tgktjkuh 

 (C) lwpuk     (D) buesa ls dksbZ ugha 
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 Which one is included in the invisible item? 

 (A) Banking    (B) Shipping 

 (C) Communication   (D) None of these 

26- dhUl ds vFkZO;oLFkk esa U;wu ek¡x dh n’kk dks fuEufyf[kr esaa fdl uke ls iqdkjk 

tkrk gS \ 

 (A) iw.kZ jkstxkkj larqyu   (B) viw.kZ jkstxkj larqyu 

 (C) nksuksa (A) vkSj c-   (D) buesa ls dksbZ  ugha 

 Which of the following is known as the state of deficient demand in 

Keynesian economy? 

 (A) Full Employment Equilibrium  

(B) Incomplete Employment Equilibrium. 

(C) Both (A) and (B)   

(D) None of these 

27- ;fn MPC = 0.5 rks xq.kd (K)  gksxkk % 

(A) ½       (B) 0 

 (C) 1      (D) 2  

 If MPC = 0.5, then Multiplier (K) will be : 

 (A) ½       (B) 0 

 (C) 1      (D) 2  

28- GNP voLQhrd D;k gS \ 

 (A) GNP voLQhrd =          x100 

 (B) GNP voLQhrd =     x100 

udn GNP 
okLrfod GNP 

okLrfod GNP 
udn GNP 
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 (C) GNP voLQhrd =  

(D) buesa ls dksbZ ugha  

 What is GNP Deflator 

 (A) GNP Deflator = 
ே௢௠௜௡௔௟ ீே௉

ோ௘௔௟ ீே௉
 x100 

 (B) GNP Deflator = 
ோ௘௔௟ ீே௉

ே௢௠௜௡௔௟ ீே௉
 x100 

 (C) GNP Deflator = 
ோ௘௔௟ ீே௉

ே௢௠௜௡௔௟ ீே௉
  

 (D) None of these 

29- volj ykxr D;k gS \ 

 (A) og fodYi ftldk ifjR;kx dj fn;k x;k 

 (B) [kkss;k gqvk volj 

 (C) gLrkarj.k vk; 

 (D) buesaa ls lHkh 

 What is opportunity cost ? 

 (A) The alternative foregone  (B) The lost opportunity  

 (C) Transferred Earning  (D) All of these 

30- oLrq fofue; iz.kkyh dh vko’;d 'kÙksZa dkSu lh gS \ 

 (A) vko’;drkvksa dk lhfer gksuk  (B) lhfer fofue; {ks= 

 (C) vkfFkZd :Ik ls fiNM+k lekt  (D) mi;qZDr lHkh 

 What are the necessary conditions of Barter system ? 

 (A) Limited Needs    

(B) Limited Exchange Area 

okLrfod GNP 
udn GNP 
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 (C) Economically backward society  

 (D) All the above  

31- lkis{k ykspnkj ek¡x dks O;Dr djrk gS % 

 (A) 
∆ொ

ொ
 > 

∆௉

௉
      (B) 

∆௉

௉
 > 

∆ொ

ொ
 

 (C) 
∆௉

௉
 = 

∆ொ

ொ
     (D) buesa ls dksbZ ugha 

 Relative elasticity of demand is shown by : 

 (A) 
∆ொ

ொ
 > 

∆௉

௉
      (B) 

∆௉

௉
 > 

∆ொ

ொ
 

 (C) 
∆௉

௉
 = 

∆ொ

ொ
     (D) None of these 

32- fuEufyf[kr esa ls fdlds ifjoÙkZu ls ek¡x esa ifjorZu ugha gksrk \ 

 (A) ewY;ksa esa ifjoÙkZu   (B) vk; esa ifjoÙkZu 

 (C) :fp rFkk QS’ku esa ifjoÙkZu  (D) buesa ls dksbZ ugha 

 For a change in which of the following, there is no change in demand ? 

 (A) Change in Prices   (B) Change in Income 

 (C) Change in taste and fashion (D) None of these 

33- LFkk;h iw¡th dss miHkksx dks D;k dgrs gSa \ 

 (A) iw¡th fuekZ.k    (B) ewY;gzkl 

 (C) fuos’k     (D) buesa ls lHkh 

 What is consumption of fixed capital called? 

 (A) Capital Formation   (B) Depreciation 

 (C) Investment    (D) All of these 

34- pØh; izokg ds vUrxZr fuEufyyf[kr essa  dkSu 'kkfey gS \ 
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 (A) okLrfod izokg    (B) ekSfnzd izokg 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

 Which one of the following is included in circular flow ? 

 (A) Real Flow    (B) Monetary Flow 

 (C) Both (A) and (B)   (D) None of these 

35- ts- ,e- dhUl dh izfl) iqLrd ^n tsusjy fFk¸;ksjh* fdl o"kZ izdkf’kr gqbZ Fkh \ 

 (A) 1926     (B)1936 

 (C) 1946     (D) 1956 

 The famous book-‘The General Theory’ of J.M. Keynes was published 

in which year ? 

 (A) 1926     (B)1936 

 (C) 1946     (D) 1956 

36- mi;ksfxrk dh fuEu esa dkSu lh fo’ks"krk gS \ 

 (A) mi;ksfxrk ,d euksoSKkfud /kkj.kk gSA 

 (B) mi;ksfxrk O;fDrijd gksrh gSA 

 (C) mi;ksfxrk dk fopkj lkisf{kd gSA 

 (D) mi;qZDr lHkhA 

 Which of the following is characteristic of utility ? 

 (A) Utility is a psychological phenomenon 

 (B) Utility is subjective. 

 (C) Utility is a relative concept. 

 (D) All of the above. 
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37- fuEu esa ls dkSu lk lEcU/k lgh gS \ 

 (A) lhekUr vkxe ¾ vkSlr vkxe ¼
௘ିଵ

௘
½ 

 (B) dqy vkxe ¾ lhekUr vkxe ¼
௘ିଵ

௘
½ 

 (C) nksuksa (A) vkSj c-    

 (D) buesa ls dksbZ ugha 

 Which of the following relation is correct ? 

 (A) MR = AR (
௘ିଵ

௘
)   (B) TR = MR (

௘ିଵ

௘
)  

 (C) Both (A) and (B)   (D) None of these 

38- tc dqy mi;ksfxrk vf/kdre gksrh gS rc lhekUr mi;ksfxrk % 

 (A) /kukRed gksrh gSA   (B) _.kkRed gksrh gSA 

 (C) 'kwU; gksrh gSA    (D) buesa ls dksbZ ughaA 

 When Total utility becomes maximum, Marginal Utility is : 

 (A) Positive     (B) Negative 

 (C) Zero     (D) None of these  

39- ,d lektoknh vFkZO;oLFkk dk ewy mís’; gksrk gS % 

 (A) vf/kdre mRiknu   (B) vkfFkZd Lora=rk 

 (C) equkQk dekuk    (D) vf/kdre yksd dY;k.k 

 The main objective of socialistic economy is : 

 (A) Maximum Production  (B) Economic Freedom 

 (C) Earning Profit   (D) Maximum Public Welfare 
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40- fodkl’khy jk"Vªksa ds fy, dkSu&lk ctV lcls mi;qDr gS \ 

 (A) ?kkVs dk ctV    (B) lUrqfyr ctV 

 (C) cpr dk ctV    (D) buesa ls lHkh 

 Which of the following budget is suitable for developing economy ? 

 (A) Deficit Budget   (B) Balanced Budget  

 (C) Surplus Budget   (D) All of these 

41- fuEufyf[kr esa ls fdlds vuqlkj ^^fdlh oLrq dh dher ek¡x vkSj iwfrZ dh 'kfDr;ksa 

}kjk r; gksrh gS** \ 

 (A) tsoUl     (B) okyjl 

 (C) ek’kZy     (D) buesa ls dksbZ ugha 

 Who said, “Price is determined by both Demand and Supply Forces” ? 

 (A) Jevons     (B) Walras 

 (C) Marshall    (D) None of these 

42- cktkj dh og fLFkfr ftlesa dsoy ,d Øsrk gksrk gS % 

 (A) ,dkf/kdkj    (B) eksuksIlksuh 

 (C) };kf/kdkj    (D) buesa ls dksbZ ugha 

 Market situation where there is only one buyer : 

 (A) Monopoly    (B) Monopsony 

 (C) Duopoly    (D) None of these 

43- lef"V vFkZ’kkL= ds v/;;u dk fo"k; gS % 

 (A) jk"Vªh; vk; dk fl)kUr  (B) miHkksDrk dk fl)kUr 

 (C) mRiknd dk fl)kUr   (D) buesa ls dksbZ ugha 
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 The subject of the study of Macro Economics is : 

 (A) The Priniciple of National Income 

 (B) The Principle of Consumer 

 (C) The Principle of Producer 

 (D) None of these 

44- ,d [kwyh vFkZO;oLFkk esa lkeqfgd ek¡x ds la?kVd dkSu gS \ 

 (A) miHkksx      

(B) fuos’k 

 (C) miHkksx $ ljdkjh O;;    

(D) miHkksx $ fuos’k $ ljdkjh O;; $ 'kq) fu;kZr 

In an open economy, which are the components of aggregate 

demand? 

(A) Consumption     

(B) Investment 

(C) Consumption + Govt. Expenditure 

(D) Consumption + Investment + Govt. Expenditure + Net Export 

45- mRiknu Qyu esa mRiknu fdldk Qyu gS \ 

 (A) dher dk     (B) mRifÙk ds lk/kuksa dk 

 (C) dqy O;; dk    (D) buesa ls dksbZ ugha 

 In production function, production is a function of : 

 (A) Price     (B) Factors of Production 

 (C) Total Expenditure   (D) None of these 
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46- lkekU; dher Lrj dk v/;;u fd;k tkrk gS % 

 (A) O;f"V vFkZ’kkL= esa   (B) lef"V vFkZ’kkL= esa 

 (C) nksuksa (A) vkSj (B) esa   (D) buesa ls dksbZ ugha 

 General Price Level is studied in :  

 (A) Micro Economics   (B) Macro Economics 

 (C) Both (A) and (B)   (D) None of these 

47- mnklhurk oØ gksrk gS % 

 (A) ewy fcUnw dh vksj mUurksnj  (B) ewy fcUnw dh vksj vouÙkksnj 

 (C) (A) vkSj (B) nksuksa   (D) mi;qZDr lHkh vlR; 

 Indifference curve is : 

 (A) Convex to the origin  (B) Concave to the origin 

 (C) Both (A) and (B)   (D) All the above false 

48- iw.kZ izfr;ksfxrk esa QeZ % 

 (A) dher dks fu/kkZfjr djrh gS  (B) dher dks xzg.k djrh gS 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

 In perfect competition, a firm : 

 (A) Determines price   (B) Obtains price 

 (C) Both (A) and (B)   (D) None of these 

49- Hkkjr essa laln ctV dks lkekUr;k Lohd`fr nsrh gS % 

 (A) 28 Qjojh rd    (B) 1 ekpZ rd 

 (C) 15 ekpZ rd    (D) 31 ekpZ rd 
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 Indian Parliament generally approves Budget by : 

 (A) Up to Feb. 28    (B) Upto March 1 

 (C) Upto March 15   (D) Upto March 31 

50- cktkj ewY; dks ifjHkkf"kr fd;k tkrk gS % 

 (A) vYidkyhu cktkj   (B) nh?kZdkyhu cktkj 

 (C) vfrnh?kZdkyhu cktkj   (D) buesa lHkh 

 Market Price is defined as : 

 (A) Short-run Market   (B) Long-run Market 

 (C) Very Long-run Market  (D) All of the above 

51- ek¡x dh yksp fdrus izdkj dh gksrh gS \ 

 (A) 3      (B) 5 

 (C) 6      (D) 7 

 How many types of elasticity of demand are ? 

 (A) 3      (B) 5 

 (C) 6      (D) 7 

52- fuEufyf[kr esa dkSu&lk LVkWd gS \ 

 (A) lEifÙk     (B) cpr 

 (C) fu;kZr     (D) buesa ls dksbZ ugha 

 Which of the following is a stock ? 

 (A) Wealth     (B) Saving 

 (C) Export     (D) None of these 
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53- ,d QeZ esa ykHk gksrk gS tc % 

 (A) AR>AC     (B) AR=AC 

 (C) AC>AR     (D) buesa ls dksbZ ugha 

 A firm earns profit when : 

 (A) AR>AC     (B) AR=AC 

 (C) AC>AR     (D) None of these 

54- vFkZ’kkL= dh fo"k; oLrq dk v/;;u fdu 'kk[kkvksa ds vUrxZr fd;k tkrk jgk gS \ 

 (A) O;f"V vFkZ’kkL=    (B) lef"V vFkZ’kkL= 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

 The subject of matter of Economics is being studied under which 

branches ? 

 (A) Micro Economics   (B) Macro Economics 

 (C) Both (A) and (B)   (D) None of these 

55- fuEu esa dkSu lgh gS \ 

 (A) iw.kZr;k ykspnkj iwfrZ es=00  (B) vf/kd ykspnkj iwfrZ es>1 

 (C) iw.kZr;k csykspnkj iwfrZ es=0  (D) mi;qZDr lHkh 

 Which of the following is correct ? 

 (A) Perfectly elastic supply es=00 (B) High elastic supply es>1 

 (C) Perfectly inelastic supply es=0  (D) All of the above  

56- vFkZO;oLFkk dh dsUnzh; leL;k gS % 

 (A) D;k mRiknu gks \   (B) dSls mRiknu gks\ 

 (C) mRikfnr oLrq dk forj.k dSls gks\ (D) mi;qZDr lHkh 
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 The central problem of an economy is : 

 (A) What to produce ?    

(B) How to produce ? 

 (C) How to distribute the produced goods?    

(D) All of the above 

57- ,d oLrq dh dher ml fcUnq ij fu/kkZfjr gksrh gS tgk¡ % 

 (A) oLrq dh ek¡x vf/kd gks    

(B) oLrq dh iwfrZ vf/kd gks 

 (C) oLrq dh ek¡x vkSj oLrq dh iwfÙkZ cjkcj gks 

 (D) buesa ls dksbZ ugha 

 Price of a commodity is determined at a point where : 

 (A) Demand exceeds   (B) Supply exceeds 

 (C) Demand equals supply  (D) None of these 

58- og dkSu&lk le; gS] ftlesa mRiknu ds lHkh lk/ku cnys tk ldrs gSa \ 

 (A) vYidky     (B) nh?kZdky 

 (C) vfrnh?kZdky    (D) lHkh rhuksa 

 At which time all the factors of production may be changed : 

 (A) Short-run    (B) Long-run 

 (C) Very Long run   (D) All the these 

59- fdlesa Øsrkvksa vkSj foØsrkvksa dh la[;k cM+h gksrh gS \  

 (A) dsoy iw.kZ izfr;ksfxrk esa  (B) dsoy ,dkf/kdkjkRed izfr;ksfxrk esa 

 (C) (A) ,oa (B) nksuksa   (D) buesa ls dksbZ ugha 
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 Where there are large number of buyers and sellers ? 

 (A) Perfect Competition only  (B) Monopolistic Competition only 

 (C) Both (A) and (B)    (D) None of these 

60- _tqjs[kh; ek¡x oØ ds e/; fcUnq ij ek¡x dh yksp % 

 (A) 'kqU; gksxh    (B) bdkbZ gksxh 

 (C) vuUr gksxh    (D) buesa ls dksbZ ugha 

 The elasticity of demand at the midpoint of demand curve of a straight 

line demand curve : 

 (A) Will be 0    (B) Will be unity 

 (C) Will be infinity   (D) None of these 

61- fons’kh fofue; nj dk fu/kkZj.k gksrk gS % 

 (A) fons’kh djsalh dh ek¡x }kjk   

(B) fons’kh djsUlh dh iwfÙkZ }kjk 

 (C) fons’kh fofue; cktkj esa ek¡x ,oa iwfÙkZ }kjk 

 (D) buesa ls dksbZ ugha 

 Foreign exchange rate is determined by ; 

 (A) Demand of foreign currency 

 (B) Supply of Foreign currency 

 (C) Demand and supply in foreign Exchange market 

 (D) None of these 

62- iw¡th ctV 'kkfey djrk gS % 

 (A) jktLo izkfIr;k¡ ,oa jktLo O;; (B) iw¡thxr izkfIr;k¡ ,oa iw¡thxr O;; 
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 (C) izR;{k ,oa vizR;{k dj   (D) buesa ls dksbZ ugha 

 Capital Budget includes : 

(A) Revenue Receipts and Revenue Expenditure 

(B) Capital Receipts and Capital Expenditure 

(C) Direct and Indirect Tax 

(D) None of these 

63- jkstxkj xq.kd fl)kUr ds tUenkrk gSa % 

 (A) dhUl     (B) dkgu 

 (C) gsUlsu     (D) ek’kZy 

 The Theory of Employment Multiplier was propounded by : 

 (A) Keynes     (B) Kahan 

 (C) Hansen     (D) Marshall 

64- Hkqxrku 'ks"k dk ?kVd gS % 

 (A) pkyw [kkrk    (B) iw¡th [kkrk  

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

 The components of Balance of Payment is/are : 

 (A) Current Account   (B) Capital Account 

 (C) Both (A) and (B)   (D) None of these 

65- jktdks"kh; ?kkVk blds leku gS % 

 (A) izkFkfed ?kkVk & C;kt Hkqxrku (B) izkFkfed ?kkVk $ C;kt Hkqxrku 

 (C) dqy ctV O;; & dqy ctV izkfIr;k¡ (D) buesa ls dksbZ ugha 
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Fiscal Deficit equals to : 

 (A) Primary Deficit – Interest Payments 

 (B) Primary Deficit + Interest Payements 

 (C) Total Budget Expenditure – Total Budget Receipts 

 (D) None of these 

66- fuEu esa ls dkSu vizR;{k dj gS \ 

 (A) vk;dj     (B) lEifÙk dj 

 (C) mRikn 'kqYd    (D) migkj dj 

 Which of the following is Indirect Tax ? 

 (A) Income Tax    (B) Wealth Tax 

 (C) Excise Duty    (D) Gift Tax 

67- lhekUr miHkksx izo`fr fuEu esa ls dkSu gS \ 

 (A) 
∆௒

∆஼
       (B) 

∆஼

∆௒
  

(C) 
∆௒

∆ூ
      (D) buesa ls dksbZ ugha 

 Which of the following is Marginal Propensity to consume ? 

 (A) 
∆௒

∆஼
       (B) 

∆஼

∆௒
  

(C) 
∆௒

∆ூ
      (D) None of these 

68- fuos’k ds fu/kkZjd ?kVd dkSu ls gSa \ 

 (A) iw¡th dh lhekUr {kerk   (B) C;kt dh nj 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 
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 Which is the determining factor for investment ? 

 (A) Marginal efficiency of capital (B) Interest Rate 

 (C) Both (A) and (B)   (D) None of these 

69- fons’kh fofue; dh izfØ;k gksrh gS % 

 (A) ns’kksa ds e/;    (B) jkT;ksa ds e/; 

 (C) ns’k ds Hkhrj    (D) jkT;ksa ds Hkhrj 

 The process of Foreign Exchange occurs :- 

 (A) Between the countries  (B) Between the states 

 (C) Within the country   (D) Within the states 

70- foykflrk oLrqvksa dh ek¡x gksrh gS % 

 (A) csykspnkj     (B) ykspnkj 

 (C) vR;f/kd ykspnkj   (D) iw.kZr;k csykspnkj 

 For luxury goods the demand is : 

 (A) Inelastic    (B) Elastic 

 (C) Highly elastic    (D) Perfectly inelastic 

71- fuEu esa dkSu dY;k.kdkjh vFkZ’kkL=h ugha gSa \ 

 (A) ek’kZy     (B) dSuu 

 (C) ts- ch- ls     (D) ihxw 

 Who does not belong to welfare Economist ? 

 (A) Marshall    (B) Canon 

 (C) J. B. Say    (D) Pigou 
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72- nh?kZdkyhu mRiknu Qyu dk lEcU/k gS %& 

 (A) ek¡x ds fu;e ls    (B) mRifÙk òf) fu;e ls 

 (C) iSekus ds izfrQy fu;e ls  (D) ek¡x dh yksp ls  

 Long run production function is related to : 

 (A) Law of Demand   (B) Law of Increasing Return 

 (C) Law of Returns to Scale  (D) Elasticity of Demand 

73- mi;ksfxrk dh eki dh tk ldrh gS % 

 (A) eqnzk ds }kjk    (B) oLrqvksa ds fofue; }kjk 

 (C) oLrqvksa ds otu }kjk   (D) buesa ls dksbZ ugha 

 Utility can be measured by : 

 (A) Money     (B) Exchange of Goods 

 (C) Weight of the Goods  (D) None of these  

74- ifjoÙkZu’khy vuqikrksa dk fu;e lEcfU/kr gS % 

 (A) vYidky ls    (B) vYidky ,oa nh?kZdky nksuksa ls 

 (C) nh?kZdky ls    (D) vfrnh?kZdky ls 

 Law of variable Proportion is related to : 

 (A) Short-run    (B) Both short-run and Long run 

 (C) Long-run    (D) Very Long-run 

75- mRiknd lUrqyu dh fuEufyf[kr esa dkSu lh jhfr;k¡ gSa \ 

 (A) dqyvkxe ,oa dqy ykxr jhfr  (B) lhekUr vkxe ,oa lhekUr ykxr jhfr 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 
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 Which of the following is a method of Producer’s Equilibrium ? 

 (A) TR and TC Method   (B) MR and MC Method 

 (C) Both (A) and (B)   (D) None of these 

76- fuEufyf[kr esa ls dkSu mRifÙk dk lk/ku ugha gS \ 

 (A) Hkwfe     (B) Je 

 (C) iw¡th     (D) eqnzk 

 Which of the following is not a factor of Production ? 

 (A) Land     (B) Labour 

 (C) Capital     (D) Money 

77- ^^iwfrZ vius fy, ek¡x Lo;a lf̀tr dj ysrh gSA** fdlus dgk gS \ 

 (A) izks0 ts-ch- ls    (B) fjdkMksZ 

 (C) izks0 ihxw     (D) dhUl 

 “Supply Creates its own demand”. Who said ? 

 (A) Prof. J. B. Say   (B) Ricardo 

 (C) Prof. Pigou    (D) Keynes 

78- dkWQh ds ewY; esa o`f) gksus ij pk; dh ek¡x % 

 (A) c<+rh gS     (B) ?kVrh gS 

 (C) fLFkj jgrh gS    (D) buesa ls dksbZ ugha 

 With the rise in coffee price the demand of tea : 

 (A) Rises     (B) Falls 

 (C) Remains stable   (D) None of these 
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79- fuEu esa dkSu lehdj.k lgh gS \ 

 (A) TVC = TC – TFC   (B) TC = TVC - TFC 

 (C) TFC = TVC + TC   (D) TC = TVC x TFC 

 Which of the following equation is true ? 

 (A) TVC = TC – TFC   (B) TC = TVC - TFC 

 (C) TFC = TVC + TC   (D) TC = TVC x TFC 

80- cktkj ewY; lEcfU/kr gksrk gS % 

 (A) vfr vYidkyhu ewY; ls  (B) lkekU; ewY; ls 

 (C) LFkk;h ewY; ls    (D) buesa ls lHkh 

 Market price is associated with : 

 (A) The Price of very short Period (B) Normal Price 

 (C) Permanent Price   (D) All of these 

81- iw.kZ izfr;ksfxrk esa % 

 (A) AR = MR    (B) AR > MR 

 (C) AR < MR     (D) buesa ls dksbZ ugha 

 In perfect competition : 

 (A) AR = MR    (B) AR > MR 

 (C) AR < MR    (D) None of these 

82- og oØ tks vkfFkZd leL;k n’kkZrk gS % 

 (A) mRiknu oØ    (B) mRiknu lEHkkouk oØ 

 (C) ek¡x oØ     (D) mnklhurk oØ 
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 The Curve that shows economic problem : 

 (A) Production curve   (B) Production Possibility curve 

 (C) Demand curve   (D) Indifference curve 

83- jk"Vªh; vk; esa fuEufyf[kr esa fdls lfEefyr fd;k tkrk gS \ 

 (A) yxku] etnwjh] C;kt   (B) yxku] etnwjh] osru] C;kt] ykHk 

 (C) yxku] etnwjh] osru   (D) yxku] ykHk] C;kt  

 Which one is included in National Income ? 

 (A) Rent, Wage, Interest   

(B) Rent, Wage, Salary, Interest, Profit 

(C) Rent, Wage, Salary 

(D) Rent, Profit, Interest 

84- izokg ds vUrZxr fuEufyf[kr esa dkSu 'kkfey gS \ 

 (A) miHkksx     (B) fuos’k 

 (C) vk;     (D) mi;qZDr lHkh 

 Which one of the following is included in flow ? 

 (A) Consumption    (B) Investment 

 (C) Income     (D) All of the above 

85- ekSfnzd ykxr esa fuEufyf[kr esa fdls 'kkfey fd;k tkrk gS \ 

 (A) lkekU; ykHk    (B) O;Dr ykxrsa 

 (C) vO;Dr ykxrsa    (D) mi;qZDr lHkh 

 Which of the following is included in Monetary cost ? 

 (A) Normal Profit    (B) Explicit cost 
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 (C) Implicit cost    (D) All of the above 

86- vkfFkZd leL;k ewyr% fdl rF; dh leL;k gS \ 

 (A) pquko dh     (B) miHkksDrk p;u dh 

 (C) QeZ p;u dh    (D) buesa ls dksbZ ugha 

 Economic problem is basically related to which factor ? 

 (A) Choice     (B) Consumer’s Selection 

 (C) Firm’s Selection   (D) None of these 

87- okLrfod izokg ds vUrxZr fuEu esa dkSu 'kkfey gS \ 

 (A) oLrqvksa dk izokg    (B) lsokvksa dk izokg 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

 Which of the following is included in Real Flow ? 

 (A) Flow of Goods   (B) Flow of Services 

 (C) Both (A) and (B)   (D) None of these 

88- iwfÙkZ ds fu;e dks fuEufyf[kr esa dkSu&lk Qyu iznf’kZr djrk gS \ 

 (A) S = f(P)     (B) S = f(
ଵ

௉
) 

 (C) S = f(Q)    (D) buesa ls dksbZ ugha 

 Which of the following function shows the Law of supply ? 

 (A) S = f(P)     (B) S = f(
ଵ

௉
) 

 (C) S = f(Q)    (D) None of these 

89- MPC dk eku D;k gS \ 

 (A) 1      (B) 0 

 (C) 0 ls vf/kd fdUrq 1 ls de  (D) vuUr 
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 What is the Value of MPC ? 

 (A) 1      (B) 0 

 (C) Greater than o but less than 1 (D) Infinite 

90- mi;ksfxrk dk x.kuk okpd fl)kUr fuEu esa fdlus izLrqr fd;k \ 

 (A) fgDl     (B) ihxw 

 (C) ek’kZy     (D) lSE;qylu 

 Who gave the cardinal concept of utility ? 

 (A) Hicks     (B) Pigou 

 (C) Marshall    (D) Samuelson 

91- le foPNsn fcUnq rc mRiUu gksrk gS tc % 

 (A) TR>TC     (B) MR>MC 

 (C) TR = TC     (D) (A) vkSj (B) nksuksa 

 Break-Even Point is generated when :- 

 (A) TR>TC     (B) MR>MC 

 (C) TR = TC    (D) Both (A) and (B) 

92- xkslsu dk izFke fu;e fuEu esa dkSu lk gS \ 

 (A) ek¡x dk fu;e    (B) lhekUr mi;ksfxrk gzkl fu;e 

 (C) le&lhekUr mi;ksfxrk fu;e  (D) miHkksDrk dh cpr 

 Which is the first Law of Gossen ? 

 (A) Law of Demand    

(B) Law of Diminishing marginal Utility 

(C) Law of Equi-Marginal Utility 
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(D) Consumer’s surplus 

93- le lhekUr mi;ksfxrk fu;e ds vuqlkj miHkksDrk ds lUrqyu dh 'kÙkZ gS % 

 (A) 
ெ௎ಲ

௉ಲ
 = 

ெ௎ಳ

௉ಳ
     (B) 

ெ௎ಲ

ெ௎ಳ
 = 

௉ಲ

௉ಳ
 

(C) (A) vkSj (B) nksuksa   (D) ifjHkkf"kr ugha 

 According to the Law of Equi-Marginal Utility the condition for 

consumer’s equilibrium is : 

 (A) 
ெ௎ಲ

௉ಲ
 = 

ெ௎ಳ

௉ಳ
     (B) 

ெ௎ಲ

ெ௎ಳ
 = 

௉ಲ

௉ಳ
  

(C) Both (A) and (B)   (D) Undefined  

94- fdlds vuqlkj vFkZ’kkL= okLrfod foKku gS % 

 (A) ek’kZy     (B) jkWfcUl 

 (C) dSuu     (D) ihxw 

 According to whom Economics is a positive science ?  

 (A) Marshall    (B) Robbins 

 (C) Canon     (D) Pigou 

95- fuEufyf[kr esa dkSu fLFkj ykxr ugha gS \ 

 (A) chek izhfe;e    (B) C;kt 

 (C) dPps eky dh ykxr   (D) QSDVjh dk fdjk;k 

 Which of the following is not Fixed cost ? 

 (A) Insurance Premium  (B) Interest 

 (C) Cost of Raw Materials  (D) Factory Rent 

96- v{kksa ds dsUnz ls fudyusokyh iwfÙkZ js[kk dh yksp gksrh gS % 

 (A) bdkbZ ls de    (B) bdkbZ ls vf/kd 
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 (C) bdkbZ ds cjkcj    (D) 'kwU; ds cjkcj 

 The elasticity of a straight line supply curve originated from the centre 

of origin is : 

 (A) Less than Unity   (B) More than Unity 

 (C) Equal to Unity   (D) Equal to Zero 

97- ^^le:Ik mRikn fo’ks"krk gS** % 

 (A) dsoy iw.kZ izfr;ksfxrk   (B) dsoy iw.kZ vYikf/kdkj 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

 Homogeneous Product is a characteristic of : 

 (A) Only perfect competition  (B) Only perfect Oligopoly 

 (C) Both (A) and (B)   (D) None of these 

98- Je dh 2 bdkbZ yxkus ij dqy mRiknu 22 gS vkSj 1 bdkbZ yxkus ij ;g 10 gS rks 

lhekUr mRiknu gksxk % 

 (A) 10     (B) 12 

 (C) 14     (D) 16 

 If total product at 2 units of labour employed is 22 and total Product at 

1 unit is 10, then MP will be : 

 (A) 10     (B) 12 

 (C) 14     (D) 16 

99- oLrq dh gj vxyh bdkbZ ds iz;ksx ls lhekUr mi;ksfxrk % 

 (A) ?kVrh gS     (B) c<+rh gS 

 (C) leku jgrh gS    (D) 'kwU; gks tkrh gS 
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 Consumption of every additional unit of a commodity brings utility : 

 (A) Decreasing    (B) Increasing 

 (C) Remains constant   (D) Zero 

100- Hkkjr esa ,d :i;k dk uksV dkSu tkjh djrk gS \ 

 (A) Hkkjrh; fjtoZ cSad   (B) Hkkjr ljdkj dk foÙk ea=ky; 

 (C) ,l ch vkbZ    (D) buesa ls dksbZ ugha 

 In India one Rupee note is issued by : 

 (A) Reserve Bank of India   

(B) Finance Ministry of Govt. of India  

 (C) SBI 

 (D) None of these 

Section-B

Short Answer Type Questions

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each 

question carries 2 marks.       (15x2=30) 

1- lw{e vFkZ’kkL= dh fo’ks"krk,¡ crkb,A 

Mention the characteristics of Micro Economics. 

2- mRiknu lEHkkouk oØ D;k gS \ 

What is production possibility curve ? 
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3- mnklhurk ekufp= D;k gS \ 

What is indifference map ? 

4- bPNk vkSj ek¡x esa vUrj Li"V djsaA 

Distinguish between Desire and Demand. 

5- oS/kkfud rjyrk vuqikr D;k gS \ 

What is Statutory Liquidity Ratio ? 

6- ek¡x dh dher yksp dks izHkkfor djus okys pkj rRoksa dks yhf[k,A 

Write any four factors affecting the Price Elasticity of Demand. 

7- ;fn lhekUr miHkksx izo`fr ,oa lhekUr cpr izo`fr cjkcj gks rks xq.kd dk eku 

crkb,A 

If MPC and MPS are equal, calculate the value of Multiplier. 

8- LQhfrd vUrjky dh ifjHkk"kk nhft,A 

Defien Inflationary Gap. 

9- ekSfnzd uhfr D;k gS \ 

What is Monetary Policy ? 

10- ?kkVs ds ctV ls D;k vk’k; gS \ 

What is meant by Deficit Budget ? 

11- jktLo O;; dh ifjHkk"kk nsaA 

Define Revenue Expenditure. 

12- fons'kh fofue; dh vkiwfÙkZ ds nks lzksr crykb;sA 

State two sources of supply of foreign exchange. 
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13- Hkqxrku larqyu ls D;k vfHkizk; gS \ 

What is meant by Balance of Payment ? 

14- dkSu ls nks lkSns O;kikj 'ks"k dks fu/kkZfjr djrs gSa \ 

Which two transactions determine Balance of Trade ? 

15- ØsfMV dkMZ D;k gS \ 

What is Credit Card ? 

16- vFkZO;oLFkk esa lk[k fuekZ.k dkSu djrk gS \ 

Who creates credit in the economy ? 

17- eqnzk ds dksbZ nks dk;Z crkb,A 

State any two functions of money. 

18- ldy jk"Vªh; mRikn dh x.kuk dSls dh tkrh gS \ 

How GNP is calculated ? 

19- futh vk; rFkk O;fDrxr vk; esa vUrj djsaA 

Distinguish between private income and personal income. 

20- ,d vk/kqfud vFkZO;oLFkk ds pkjksa {ks=ksa dk uke fy[ksaA 

Write the names of four sectors of a modern economy. 

21- iw.kZ izfr;ksfxrk esa dher dkSu fu/kkZfjr djrk gS \ 

Who determines price under Perfect competition ? 

22- lkE; dher dk fu/kkZj.k dgk¡ gksrk gS \ 

Where is Equilibrium price determined ? 

23- fdl cktkj esa AR = MR gksrk gS \ 

In which market does the condition AR = MR prevail ? 
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24- iwfÙkZ yksp dks izHkkfor djus okys pkj ?kVdksa dks yhf[k,A 

Mention the four factors which influence the elasticity of supply 

25- iwfÙkZ oØ ds nk¡;h vksj f[kldus dk ,d dkj.k crkb,A 

Give one reason for rightward shift in supply curve. 

26- iw.kZ izfr;ksfxrk ds rgr vkSlr vkxe vkSj lhekUr vkxe dh vkd`fr dSlh gksrh 

gS\ 

What type of shapes do AR and MR curves under Perfect 

Competition ? 

27- ifjoÙkZu’khy ykxr dh ifjHkk"kk nhft,A 

Define Variable Cost. 

28- vYidkyhu ykxr oØ U&vkdf̀r dk D;ksa gksrk gS \ 

Why is Short-run cost curve U-shaped ? 

29- dqy ykxr dh x.kuk dSls gksrh gS \ 

How is total cost calculated ? 

30- ek¡x oØ dk nk¡;h vksj f[klduk D;k n’kkZrk gS \ 

What shows the movement of demand curve towards right. 

Long Answer Type Questions

 iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz’u gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd 

iz’u ds fy, 5 vad fu/kkZfjr gSaA       (4x5=20) 

Question no. 31 to 38 are Long answer Type. Answer any 4 questions. Each 

question carries 5 marks.       (4x5=20) 
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31- O;kolkf;d cSadksa ds fodklkRed dk;ksZa dh ppkZ dhft,A 

Discuss the developmental functions of commercial banks. 

32- ^^cpr ,oa fuos’k esa Li"V ,d:irk ikbZ tkrh gS** bl dFku dh vkykspukRed 

O;k[;k dhft,A 

“Obvious uniformity exists between saving and investment”. 

Examine the statement critically. 

33- ^^vFkZ’kkL= ,d vkn’kZ foKku gSA** dSls \ 

“Economics is a Normative Science”. How? 

34- izR;{k dj ,oa vizR;{k dj esa vUrj dhft,A 

Distinguish between Direct Tax and Indirect Tax. 

35- jk"Vªh; vk; ls vki D;k le>rs gSa \ ;g dSls ekih tkrh gS \ 

What do you mean by National Income ? How is it measured ? 

36- dsUnzh; cSad ds izeq[k dk;ksZa dh foospuk dhft,A 

Discuss the main functions of Central Bank. 

37- js[kkfp= dh lgk;rk ls lhekUr mi;ksfxrk gzkl fu;e dh O;k[;k dhft,A 

Explain the law of diminishing marginal utility with the help of a 

diagram. 

38- Ekk¡x dh dher yksp ds fofHkUu izdkj D;k gSa \ 

What are the different types of price Elasticity of Demand ? 


